glaversies defined nod
$$\omega$$
: $e^{iT(E_n^{-}+l\omega)} = e^{iTE_n^{-}}$ $He \in \mathbb{Z}$
=> Elequed Hamiltonian H_e is ust unique (deputs on the
divice for branch at -t log.)
=avalage to guesi-nomentum (Bloch's thum for $V(\mathbb{Z}) = V(\mathbb{Z} + \mathbb{Z})$
in systems $\sqrt{2}$ spatial periodicity
. H_e is unique
= hick operator: $K(t)$: $P(H = e^{-iK(t)})$
 $K(t+T) = K(t)$ universation operator
 e^{ik} at high drive breg. ($\omega \gg i\omega$), $K(t)$ governs universation
 $in viscoustion, T$ universation drive universation
 $V(\mathbb{Z})$ universation, T universation drive cycle
 $K(t) = \frac{1}{2}(iD_{1}P(t))P(t)$
- Floquet "gauge": dependence on the initial time to
 $(vr phase of drive)$
 $W(t, t_{e}) = e^{-iK(t, t_{e})} - \frac{i(t_{e})}{2}(t_{e}, t_{e}) + \frac{1}{2}(t_{e}, t_{e})$

(HW): can show:
$$P(t,t_0)|u_P(t_0] > |u_P(t_0] > u_1(ronotion op moves b/w inst. Floquet stakes
sole: Floquet "gauge" is physical; it is set by initial time / condition
Q: How do we compute HF K K in practice?
 \Rightarrow inverse- frequency expansions: $w \gg w_0$, $w \to \infty$
(or $T \to 0$)
I) simple case: step drives (similar for kicked drives)
 $U_F = e^{-i \frac{T}{2} H_1} e^{-i \frac{T}{2} H_0} \frac{1}{2} e^{-i T H_{FM}}$
 $\Rightarrow H_{FN} = \frac{1}{T} \log_{T} \left(e^{-i \frac{T}{2} H_0} + (\frac{-i T}{2})^2 \frac{1}{2} [H_0, H_0] + (\frac{-i T}{2})^3 \frac{1}{12} ([H_0, [H_0, H_0]] + 0 \ll 1) + \dots)$
 $= \frac{1}{2} [H_0 + H_0] = O(T^{\circ}) := H_{FM}^{\circ}$
 $= \frac{T}{3} i [H_0, H_0] = (H_{FM}^{\circ} = O(T^{\circ}))$
 $= \frac{1}{3} ([H_0, [H_0, H_0]] + [H_0, [H_0, H_0]]) = H_{FM}^{\circ} = O(T^{\circ})$
 $= \frac{1}{3} ([H_0, [H_0, H_0]] + [H_0, [H_0, H_0]]) = H_{FM}^{\circ} = O(T^{\circ})$$$

HFN =
$$\sum_{n=0}^{\infty}$$
 HFN; HPN $\infty \lim_{u \to u} \infty T^{h}$
Baker - Campbell - Hansdorff (BCH) formula
2) generic time - periodic dependence
Floquet - Magnus expansion
(FM)

$$LSH = Je^{-i \int_{a}^{T} dt H(t)} = U_{F} = e^{-i \int_{a}^{T} dt H(t)} = RHS$$

$$we : H_{FM} = \sum_{a}^{T} H_{FM}^{(h)} \approx \sum_{w}^{L} e^{-i \int_{a}^{T} H_{FM}} = RHS$$

notation: $H(t_j) = H_j$ $LHS = \mathcal{I} - i \int_{-\infty}^{T} dt_a H_a - \int_{-\infty}^{T} dt_1 \int_{0}^{t_1} dt_2 H_a H_z$ $\sim T$ $RHS = \mathcal{I} - i T (H_{FM}^{(0)} + H_{FM}^{(1)} + H_{FM}^{(2)} + \dots)$ $+ \frac{(iT)^2}{2} (H_{FM}^{(0)} + H_{FM}^{(1)} + \dots) (H_{FM}^{(0)} + H_{FM}^{(1)} + \dots)$

assu

HFM = + Jat H(+) time-averaged Hamiltonian $-\int dt_{a} \int dt_{z} H_{a} H_{z} \stackrel{!}{=} -iT H_{FM}^{(l)} - \frac{T^{2}}{2} \left(H_{FM}^{(0)}\right)^{2}$ $H_{FM} = \frac{i}{T} \left\{ \frac{T}{2} \left(\frac{1}{T} \int_{0}^{T} dt H(t) \right)^{2} - \int_{0}^{T} dt \int_{0}^{t} dt H_{0} H_{1} \right\}$ $=\frac{i}{T}\int \frac{1}{2}\int dt_{1}\int dt_{2}H_{4}H_{2} - \int \int dt_{2}\int dt_{2}H_{4}H_{2}$ $=\frac{1}{T}\left\{\frac{1}{2}\int_{0}^{T}dt_{1}\left(\int_{0}^{t}dt_{2} + \int_{0}^{T}dt_{2}\right)H_{a}H_{2} - 1\int_{0}^{T}dt_{a}\int_{0}^{t}dt_{2}H_{a}H_{2}\right\}$ $t_2 = t_a$ $= \int_{0}^{T} dt_{1} H_{2} H_{4}$

$$= \int_{a}^{b} dt_{a} \int_{a}^{b} dt_{a} H_{a} H_{a}$$

$$= \int_{a}^{b} dt_{a} \int_{a}^{b} dt_{a} H_{a} H_{a}$$

$$= \int_{a}^{b} dt_{a} \int_{a$$

wout to expand:
$$H_{VV} = \sum H_{V}^{(k)} \approx \frac{1}{2}$$

 $K_{W}(H) = \sum K_{W}^{(k)}(H) \approx \frac{1}{2}u$
recall : Floquet's thus defines a not ref. forme where
dynamics is generated by static HVV
mu: construct this towne transformation order by order
in $1/\omega$ is vV expansion
 $ide_{1}He^{-iK} = H + i [K, H] - \frac{1}{2} [K, [K, H]] + ...$
 $= iK H e^{-iK} = -9uK - \frac{1}{2} [K, O_{K}K] + \frac{1}{2} [K, [K, O_{K}K]] + ...$
 $= iK vV(H) H(F) e^{-iK_{VV}(F)} - i e^{-iK_{VV}(H)}$
 $= H(H) + i [K^{(0)}(H), H(H)] + O(w^{-2})$
 $-\frac{1}{2} [K^{(0)}(F), O_{E}K^{(0)}(F)] - O_{F}(K^{(0)}(F) + K^{(0)}(F)) + O(w^{-2})$
Hive dep on RHS hos to vanish order by order in $1/\omega$
since LHS is time - indep.
expand: $H(F) = \sum_{k=1}^{\infty} H_{e} e^{iLwF}$
 $= V(F) + i [K^{(0)}(F), H(H)] - \frac{1}{2} [K^{(0)}(F), O_{E}K^{(0)}(F)]$
 $= N K^{(0)} + i [K^{(0)}(F), H(H)] - \frac{1}{2} [K^{(0)}(F), O_{E}K^{(0)}(F)]$
 $= N K^{(0)} + i [K^{(0)}(F), H(H)] - \frac{1}{2} [K^{(0)}(F), O_{E}K^{(0)}(F)]$
 $= N K^{(0)} + i [K^{(0)}(F), H(H)] - \frac{1}{2} [K^{(0)}(F), O_{E}K^{(0)}(F)]$
 $= N K^{(0)} + i [K^{(0)}(F), H(H)] - \frac{1}{2} [K^{(0)}(F), O_{E}K^{(0)}(F)]$
 $= N K^{(0)} + i [K^{(0)}(F), H(H)] - \frac{1}{2} [K^{(0)}(F), O_{E}K^{(0)}(F)]$
 $= N K^{(0)} + i [K^{(0)}(F), H(H)] - \frac{1}{2} [K^{(0)}(F), O_{E}K^{(0)}(F)]$
 $= N K^{(0)} + i [K^{(0)}(F), H(H)] - \frac{1}{2} [K^{(0)}(F), O_{E}K^{(0)}(F)]$
 $= N K^{(0)} + i [K^{(0)}(F), H(H)] - \frac{1}{2} [K^{(0)}(F), O_{E}K^{(0)}(F)]$
 $= N K^{(0)} + \frac{1}{2} \sum_{i=1}^{N} H_{E} e^{iLwF} + O$

$$= H_{\circ} = \frac{k^{(1)}(1)}{1 + \lambda} = \frac{k^{(1)}($$

= H_0

$$+ \frac{1}{\omega} \sum_{\substack{\ell \neq 0 \\ \ell \neq 0}} \frac{1}{\ell} e^{i\ell\omega t} [H_{\ell}, H_{0}]$$

$$+ \frac{1}{2\omega} \sum_{\substack{\ell \neq 0 \\ \omega \neq 0}} \frac{1}{\ell} e^{i(\ell+\omega)\omega t} [H_{\ell}, H_{\omega}] | \text{separate out } w=-\ell$$

$$+ \frac{1}{2\omega} \sum_{\substack{\ell \neq 0 \\ \ell \neq 0}} \frac{1}{\ell} e^{i(\ell+\omega)\omega t} [H_{\ell}, H_{\omega}] | \text{term, since it } t-\text{indep.}$$

$$+ \frac{1}{2\omega} \sum_{\substack{\ell \neq 0 \\ \ell \neq 0}} \frac{1}{\ell} [H_{\ell}, H_{\ell}] = \frac{1}{\omega} \sum_{\substack{\ell \neq 0 \\ \ell \neq 0}} \frac{1}{\ell} e^{i\ell\omega t} [H_{\ell}, H_{0}] = \frac{1}{2} \sum_{\substack{\ell \neq 0 \\ \ell \neq 0}} \frac{1}{\ell} e^{i\ell\omega t} [H_{\ell}, H_{0}] = 0 \implies K^{(2)}(t)$$

$$+ \vartheta(\omega^{-2}) = \sum_{\substack{\ell \neq 0 \\ \ell \neq 0}} \frac{1}{\ell} H_{\ell} e^{i\ell\omega t} \sum_{\substack{\ell \neq 0 \\ \ell \neq 0}} \frac{1}{\ell} e^{i\ell\omega t} (1+2\frac{t-t'}{T}) \mod 2 H(t)$$

$$|\chi_{VV}^{(l)}(t)| = \frac{1}{\omega^2} \sum_{\substack{\ell \neq 0 \\ \ell \neq 0}} \frac{1}{\ell^2} \left[H_{\ell}, H_{0} \right] e^{i\ell\omega t} + \frac{1}{2\omega^2} \sum_{\substack{\ell \neq 0 \\ \ell \neq -\ell_{1}0}} \frac{1}{\ell(\ell+\omega)} \left[H_{\ell}, H_{\omega} \right] e^{i(\ell+\omega)\omega t}$$

H⁽⁰⁾ = H₀ =
$$\frac{1}{2} \int_{1}^{\infty} \frac{1}{4} H(4)$$

H⁽⁰⁾ = $\frac{1}{2^{10}} \sum_{r \neq 0}^{\infty} \frac{1}{4} (H_0, H_0] = \dots = -\frac{1}{2} \int_{1}^{\infty} \frac{1}{4} \ln (1 - 2 \frac{t_0 - t_0}{T}) \mod 2 (H(t_0), H(t_0))$
4) Brillouin - Wigness expansion
Lo PRB 93, 147307 (2016)
Remontons:
1) all expansions produce the same Floquet-gange inversion to
(q'energies) up to the order of approx., but may disagree beyond
(q'energies) up to the order of approx., but may disagree beyond
2) FN: Here (to) depends on Floquet gange
vV: How is indep. of to
(a hive gange dependence is in Kow(t, th))
3) vV is preferred when interested in properties of the g'energy
spectrum (-3 spectral engineering, e.g. topo insulators)
4) FN is preferred when discussing staboo. fine evo, since
it does not worthin an Nitrial kich:
W (t, 0) = e^{-iKern(t)} e^{-it Herm [0]} + iKern(0)
 $= \frac{1}{2^{10}} - \frac{1}{2^{10}} \frac{1}{2^{10}}$

6) FM: if H(H) = H(T-t), e.g. cos -like phase => all odd-order terms vanish: HEM = 0 Fue IN (caveat: this not true for vV expansion)
7) expansions have different names across different fields: -> inverse / high true, exp. (non-equil. dynamics) -> schrießter - Wolft transformation (condensed matter) -> adic batic elimination (votating wave approx., etc.) (or grouter optics)